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(a) x*:20.0, S, :20.0
£:0.035,B: 0.000,R: 0.550
Y= 0.414 X + 0.547
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(d) x* 0.5, S, .:20.0

£:0.035,B: 0.004,R: 0.575
Y= 0.420 X + 0.545
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(9) x*: 0.2, S, :20.0

£:0.035,B: 0.005,R: 0.573
Y= 0.413 X + 0.551
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(b) x*:20.0, S, ; 0.5
E£:0.037,B: 0.001,R: 0.516
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(c) x20.0, S, .; 0.2
£:0.033,B:—0.003,R: 0.548

Y= 0.395 X + 0.557
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Y= 0.495 X + 0.456
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(e) x* 0.5, S,,: 05

£:0.035,B: 0.009,R: 0.596
Y= 0.478 X + 0.488
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(f) x* 0.5, S, . 0.2

£:0.031,B: 0.002,R: 0.599
Y= 0.561 X + 0.402
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(h) x: 0.2, S, .0 0.5

£:0.035,B8: 0.010,R: 0.577
Y= 0.460 X + 0.504
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(i) x* 0.2, S, . 0.2

£:0.031,B: 0.003,R: 0.548
Y= 0.478 X + 0.478
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